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Note : Section ‘A’ is Objective type and is compulsory. It

should be written on the first page of Answer-

book. Section ‘B’ is Short answer type and Section

‘C’ is Long answer type.

 (Section ‘A’)

(Multiple Choice Questions)

— 1×10=10

Choose the correct answer :

(i)

P.T.O.

1

4-

Which of the following enzymes are not

involved in galactose metabolism ?

(a) Galactokinase

(b)  Glucokinase

(c) Galactose-1-Phosphate Uridyltransferase

(d) UDP-Galactose 4-epimerase.

(ii)

 5  3

 4  7

Which of the following glucose transporters

are important in fructose transport in the

intestine ?

(a) GLUT 5 (b) GLUT 3

(c) GLUT 4 (d) GLUT 7.

(iii) (ETS) 
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Electron transport system (ETS) is present

in which of the following parts of mito-

chondria ?

(a) Inner membrane

(b) Outer membrane

(c) Matrix

(d) Stroma.

(iv)

ATP synthesis by ATP synthase is driven

by the movement of :

(a) Protons (b) NADH

(c) Electrons (d) All these.

(v)
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What is lipolysis ?

(a) Hydrolysis of triacylglycerol

(b) Formation of lipids

(c) Breakdown of ketone bodies

(d) Formation of ketone bodies.

(vi)

Triacylglycerol packed with the apolipo-

protein and cholesterol in lipoprotein

aggregate is called............. .

(a) Chylomicrons (b) VLDL

(c) HDL (d) LDL.

(vii)
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Which of the following amino acids is

considered as both ketogenic and glu-

cogenic ?

(a) Valine (b) Tryptophan

(c) Lysine (d) None of these.

(viii)

- -

A glucogenic amino acid is one which is

degraded to :

(a) Keto-sugars

(b) Either acetyl CoA or acetoacetyl CoA

(c) Pyruvate or citric acid cycle intermediates

 (d) None of the above.

(ix)
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Identify the purine base of nucleic acids in

the following :

(a) Cytosine (b) Thymine

(c) Uracil (D) Adenine.

(x)

+ 

+

+

+ +

What is the composition of nucleoside ?

(a) Sugar + phosphate

(b) Base + sugar

(c) Base + phosphate

(d) Base + sugar + phosphate.

 (Section ‘B’)

3×5=15

(Short Answer Type Questions)

—

Note : All the five questions are compulsory.
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3.

Write short note on the following : (any two)

(a)

Phospholipids.

(b)

Glycolipids.

(c)

Sphingolipids.

4.

Write short note on the following : (any two)

(a)

Decarboxylation.

(b)

Oxidative deamination.

(c)

Transamination.
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1.

Write short note on the following : (any two)

(a)

Photosynthesis.

(b)

Alcoholic acid fermentations.

(c)

Lactic acid fermentations.

2.

Write short note on the following : (any two)

(a)

Inhibitors of electron transport chain.

(b)

Hypothesis of mitochondrial oxidative

phosphorylation.

(c)

Describe Chemiosmotic theory.
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/ Or

Explain structure of mitochondria and its

mechanism of ATP production.

3.

What is fatty acids, structure and their

oxidation ?

/ Or

Explain Lipid metabolism.

4.

Describe degradation and biosynthesis of amino

acids.

/ Or

(a)

Urea cycle.

[  10  ]

5.

Write short note on the following : (any two)

(a)

Bile pigments.

(b)

Biosynthesis of porphyrins.

 (Section ‘C’)

5×5=25

(Long Answer Type Questions)

—

Note : All the five questions are compulsory.

1.

Explain glycolysis pathway and their signi-

ficance.

/ Or

Write a note on Kreb cycle in detail.

2.

Write a note on electron transport chain in detail.

[  9  ]
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(b)

Difference between glycogenic and ketogenic

amino acids.

5. -

Write a note on the structure of purine and

pyrimidine molecules and their biosynthesis.

/ Or

Explain biosynthesis and degradation of

porphyrins.

c 
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